
Sequenzdiagramm mit einer Skalierung

(entnommen aus http://ddi.uni-wuppertal.de/material/materialsammlung/index.html)

1 begin { sequencediagram }
\ scaleSequenzdiagramm {0 .6}

3 \newthread{ f r i t z }{ f r i t z }
\newinst [ 2 ] { wecker }{wecker}

5 \newinst [ 2 ] { lampe}{ lampe}

7 \begin { c a l l s e l f } [ 2 ] { f r i t z }{
sch la f eSechsStunden ( ) }{}

9 \end{ c a l l s e l f }
\begin { c a l l }{ f r i t z }{

11 g ibUhrze i t ( ) }{wecker }{
’ ’ 5 : 3 0 ’ ’

13 }
\end{ c a l l }

15 \begin { c a l l s e l f } [ 2 ] { f r i t z }{
s ch la f eE ineStunde ( ) }{}

17 \end{ c a l l s e l f }
\begin { c a l l }{ f r i t z }{

19 g ibUhrze i t ( ) }{wecker }{
’ ’ 6 : 3 0 ’ ’

21 }
\end{ c a l l }

23 \begin { c a l l }{ f r i t z }{
schalteAn ( ) }{ lampe}{}

25 \end{ c a l l }
end{ sequencediagram }

Listing:

fritz wecker lampe

schlafeSechsStunden()

gibUhrzeit()

”5:30”

schlafeEineStunde()

gibUhrzeit()

”6:30”

schalteAn()

1
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